THREE FIXED POINT THEOREMS FOR GENERALIZED CONTRACTIONS WITH CONSTANTS IN COMPLETE METRIC SPACES

MISAKO KIKKAWA AND TOMONARI SUZUKI

ABSTRACT. We prove three fixed point theorems for generalized contractions with constants in complete metric spaces, which are generalizations of very recent fixed point theorems due to Suzuki. We also raise one problem concerning the constants.

1. INTRODUCTION

Throughout this paper we denote by \mathbb{N} the set of all natural numbers. For an arbitrary set A, we also denote by #A the number of elements of A.

The Banach contraction principle [1] plays a very important role in nonlinear analysis and has many generalizations; see [2–4, 6–8, 10–15, 17–20] and others. We also know that the principle cannot characterize the metric completeness of underlying spaces while Kannan's fixed point theorem does; see [5, 9, 16]. Very recently, Suzuki [19] proved the following fixed point theorem, which is a new type of generalization of the Banach contraction principle and does characterize the metric completeness.

Theorem 1 ([19]). Define a nonincreasing function θ from [0,1) onto $(\frac{1}{2},1]$ by

(1)
$$\theta(r) = \begin{cases} 1 & \text{if } 0 \le r \le \frac{1}{2}(\sqrt{5} - 1), \\ \frac{1 - r}{r^2} & \text{if } \frac{1}{2}(\sqrt{5} - 1) \le r \le \frac{1}{\sqrt{2}}, \\ \frac{1}{1 + r} & \text{if } \frac{1}{\sqrt{2}} \le r < 1. \end{cases}$$

Then for a metric space (X, d), the following are equivalent:

- (i) X is complete.
- (ii) Every mapping T on X satisfying the following has a fixed point:
 - There exists $r \in [0,1)$ such that $\theta(r) d(x,Tx) \le d(x,y)$ implies $d(Tx,Ty) \le r d(x,y)$ for all $x, y \in X$.
- (iii) There exists $r \in (0,1)$ such that every mapping T on X satisfying the following has a fixed point:

• $\frac{1}{10000} d(x, Tx) \le d(x, y)$ implies $d(Tx, Ty) \le r d(x, y)$ for all $x, y \in X$.

Remark. For every $r \in [0, 1)$, $\theta(r)$ is the best constant.

²⁰⁰⁰ Mathematics Subject Classification. Primary 54H25, Secondary 54C60, 54E50.

Key words and phrases. contraction, fixed point, the Banach contraction principle, Nadler's fixed point theorem.

The second author is supported in part by Grants-in-Aid for Scientific Research from the Japanese Ministry of Education, Culture, Sports, Science and Technology.

M. KIKKAWA AND T. SUZUKI

It is a very natural and significant question of whether or not we can generalize Theorem 1 as we have generalized the Banach contraction principle. In this paper, we shall extend Theorem 1 in two directions — set-valued mappings and commuting mappings. We also discuss the Meir-Keeler fixed point theorem. We remark that the proofs of our results are not obvious.

The authors are very attracted by $\theta(r)$ because $\theta(r)$ does not seem to be natural. We know $\theta(r)$ is the best constant because of the existence of counterexamples. To find an intuitive reason is another motivation. However, we have not found such a reason yet. On the contrary, we have to raise one problem concerning $\theta(r)$.

2. Two Generalizations

In this section, we prove two generalizations of Theorem 1.

Let (X, d) be a metric space. We denote by CB(X) the family of all nonempty closed bounded subsets of X. Let $H(\cdot, \cdot)$ be the *Hausdorff metric*, i.e.,

$$H(A,B) = \max\left\{\sup_{x \in A} d(x,B), \sup_{y \in B} d(y,A)\right\} \text{ for } A, B \in \operatorname{CB}(X),$$

where $d(x, B) = \inf_{y \in B} d(x, y)$.

We first prove the following, which is a generalization of both Theorem 1 and the Nadler fixed point theorem (Corollary 1).

Theorem 2. Define a strictly decreasing function η from [0,1) onto $(\frac{1}{2},1]$ by

$$\eta(r) = \frac{1}{1+r}$$

Let (X, d) be a complete metric space and let T be a mapping from X into CB(X). Assume that there exists $r \in [0, 1)$ such that

$$\eta(r) d(x, Tx) \le d(x, y)$$
 implies $H(Tx, Ty) \le r d(x, y)$

for all $x, y \in X$. Then there exists $z \in X$ such that $z \in Tz$.

Proof. Take a real number r_1 with $0 \le r < r_1 < 1$. Then, for each $u = u_0 \in X$ and $u_1 \in Tu$, we have $\eta(r) d(u, Tu) \le \eta(r) d(u, u_1) \le d(u, u_1)$. From the assumption,

$$d(u_1, Tu_1) \le H(Tu, Tu_1) \le r \, d(u, u_1)$$

holds. So, there exists $u_2 \in Tu_1$ such that $d(u_1, u_2) \leq r_1 d(u, u_1)$. Thus, we have a sequence $\{u_n\}$ in X such that $u_n \in Tu_{n-1}$ and $d(u_{n-1}, u_n) \leq r_1 d(u_{n-2}, u_{n-1})$. We have

$$\sum_{n=1}^{\infty} d(u_{n-1}, u_n) \le \sum_{n=1}^{\infty} r_1^{n-1} d(u, u_1) < \infty$$

and hence $\{u_n\}$ is a Cauchy sequence. Since X is complete, $\{u_n\}$ converges strongly to some point $z \in X$.

We next show

 $d(z, Tx) \le r d(z, x)$ for all $x \in X \setminus \{z\}$.

Since $u_n \to z$, there exists $\nu \in \mathbb{N}$ such that $d(z, u_n) \leq \frac{1}{3} d(z, x)$ for all $n \in \mathbb{N}$ with $n \geq \nu$. Then we have

$$\eta(r) d(u_n, Tu_n) \le d(u_n, Tu_n) \le d(u_n, u_{n+1}) \\ \le d(u_n, z) + d(u_{n+1}, z)$$

$$\leq \frac{2}{3} d(x, z) = d(x, z) - \frac{1}{3} d(x, z)$$

$$\leq d(x, z) - d(u_n, z) \leq d(u_n, x)$$

and hence $H(Tu_n, Tx) \leq r d(u_n, x)$. So, it follows that $d(u_{n+1}, Tx) \leq r d(u_n, x)$ for $n \in \mathbb{N}$ with $n \geq \nu$. Letting n tend to ∞ , we obtain $d(z, Tx) \leq r d(z, x)$ for all $x \in X \setminus \{z\}$.

We next prove that $H(Tx, Tz) \leq r d(x, z)$ for all $x \in X$. If x = z, then it obviously holds. So we assume $x \neq z$. Then for every $n \in \mathbb{N}$, there exists $y_n \in Tx$ such that $d(z, y_n) \leq d(z, Tx) + \frac{1}{n} d(x, z)$. We have

$$d(x, Tx) \leq d(x, y_n)$$

$$\leq d(x, z) + d(z, y_n)$$

$$\leq d(x, z) + d(z, Tx) + \frac{1}{n} d(x, z)$$

$$\leq d(x, z) + r d(x, z) + \frac{1}{n} d(x, z)$$

$$= \left(1 + r + \frac{1}{n}\right) d(x, z)$$

for $n \in \mathbb{N}$ and hence $\frac{1}{1+r} d(x, Tx) \leq d(x, z)$. From the assumption, we have $H(Tx, Tz) \leq r d(x, z)$.

Finally, since

$$d(z,Tz) = \lim_{n \to \infty} d(u_{n+1},Tz) \le \lim_{n \to \infty} H(Tu_n,Tz) \le \lim_{n \to \infty} r \, d(u_n,z) = 0$$

and Tz is closed, we obtain $z \in Tz$.

Remark. For each $r \in \{0\} \cup \left[\frac{1}{\sqrt{2}}, 1\right)$, $\eta(r)$ is the best constant because $\theta(r) = \eta(r)$. However, we do not know that $\eta(r)$ is best for $r \in \left(0, \frac{1}{\sqrt{2}}\right)$. So we have to raise the following problem:

" Is $\eta(r)$ the best constant for $r \in (0, \frac{1}{\sqrt{2}})$?"

When the second author was proving Theorem 1, he had guessed $\eta(r)$ is best from his intuition. However, his guess was false. If we could obtain an affirmative answer to our new problem, we could say that set-valued mappings are more natural than single-valued mappings in some sense.

It is obvious that the Nadler fixed point theorem follows directly from Theorem 2.

Corollary 1 (Nadler [13]). Let (X, d) be a complete metric space and let T be a mapping from X into CB(X). If there exists $r \in [0, 1)$ such that

$$H(Tx, Ty) \le r d(x, y) \quad for \ all \ x, y \in X,$$

then there exists $z \in X$ such that $z \in Tz$.

Next, we generalize Theorem 1 as Jungck in [8] generalized the Banach contraction principle.

Theorem 3. Define a function θ by (1). Let (X, d) be a complete metric space. Let S and T be mappings on X satisfying the following:

- (a) S is continuous;
- (b) $T(X) \subset S(X);$

(c) S and T commute.

Suppose that there exists $r \in [0, 1)$ such that

 $\theta(r) d(Sx, Tx) \le d(Sx, Sy)$ implies $d(Tx, Ty) \le r d(Sx, Sy)$

for all $x, y \in X$. Then there exists a unique common fixed point of S and T.

Remark. $\theta(r)$ is the best constant for every r.

Proof. By (b), we can define a mapping I on X satisfying SIx = Tx for all $x \in X$. Since $\theta(r) \leq 1$, $\theta(r) d(Sx, Tx) = \theta(r) d(Sx, SIx) \leq d(Sx, SIx)$ holds. From the assumption, we have

(2)
$$d(SIx, SIIx) = d(Tx, TIx) \le r \, d(Sx, SIx)$$

for $x \in X$. Let $u \in X$. Put $u_0 = u$ and $u_n = I^n u$ for all $n \in \mathbb{N}$. Then we note $u_{n+1} = Iu_n$ and $Su_{n+1} = Tu_n$ for $n \in \mathbb{N}$. By (2), we have

$$d(Su_n, Su_{n+1}) = d(SIu_{n-1}, SIIu_{n-1}) \le r \, d(Su_{n-1}, SIu_{n-1})$$

= $r \, d(Su_{n-1}, Su_n) \le \dots \le r^n \, d(Su_0, Su_1)$

and hence $\sum_{n=1}^{\infty} d(Su_n, Su_{n+1}) < \infty$. So, $\{Su_n\}$ is a Cauchy sequence in X and by the completeness of X, there exists a point $z \in X$ such that $Su_n \to z$.

We next show

(3)
$$d(Tx, z) \le r d(Sx, z)$$
 for all $x \in X$ with $Sx \ne z$.

Since $Su_n \to z$, there exists $\nu_1 \in \mathbb{N}$ such that $d(Su_n, z) \leq \frac{1}{3}d(Sx, z)$ for all $n \in \mathbb{N}$ with $n \geq \nu_1$. Then we have

$$\begin{aligned} \theta(r) \, d(Su_n, Tu_n) &\leq d(Su_n, Tu_n) = d(Su_n, Su_{n+1}) \\ &\leq d(Su_n, z) + d(Su_{n+1}, z) \\ &\leq \frac{2}{3} \, d(Sx, z) = d(Sx, z) - \frac{1}{3} \, d(Sx, z) \\ &\leq d(Sx, z) - d(Su_n, z) \leq d(Su_n, Sx) \end{aligned}$$

and hence $d(Tu_n, Tx) \leq r d(Su_n, Sx)$ for $n \in \mathbb{N}$ with $n \geq \nu_1$. Therefore we have

$$d(Tx, z) = \lim_{n \to \infty} d(Tx, Su_n) = \lim_{n \to \infty} d(Tx, Tu_{n-1})$$
$$\leq \lim_{n \to \infty} r \, d(Sx, Su_{n-1}) = r \, d(Sx, z)$$

for $x \in X$ with $Sx \neq z$.

Let us prove that z is a fixed point of S. In the case where $\sharp\{n : d(Su_n, Tu_n) > d(Su_n, SSu_n)\} = \infty$, there exists a subsequence $\{u_{n_j}\}$ of $\{u_n\}$ such that $d(Su_{n_j}, Tu_{n_j}) > d(Su_{n_j}, SSu_{n_j})$. Then we have

$$d(Sz, z) = \lim_{j \to \infty} d(SSu_{n_j}, z) \le \lim_{j \to \infty} \left\{ d(SSu_{n_j}, Su_{n_j}) + d(Su_{n_j}, z) \right\}$$

$$\le \lim_{j \to \infty} \left\{ d(Su_{n_j}, Tu_{n_j}) + d(Su_{n_j}, z) \right\}$$

$$= \lim_{j \to \infty} \left\{ d(Su_{n_j}, Su_{n_j+1}) + d(Su_{n_j}, z) \right\} = 0.$$

This implies z = Sz. In the other case, where $\sharp\{n : d(Su_n, Tu_n) > d(Su_n, SSu_n)\} < d(Su_n, SSu_n)\}$ ∞ , there exists $\nu_2 \in \mathbb{N}$ such that $d(Su_n, Tu_n) \leq d(Su_n, SSu_n)$ for all $n \geq \nu_2$. So, $d(Tu_n, TSu_n) \leq r d(Su_n, SSu_n)$ for all $n \geq \nu_2$. Then we have

$$d(Su_n, SSu_n) = d(Tu_{n-1}, STu_{n-1}) = d(Tu_{n-1}, TSu_{n-1})$$

$$\leq r \, d(Su_{n-1}, SSu_{n-1}) \leq \dots \leq r^{n-\nu_2} \, d(Su_{\nu_2}, SSu_{\nu_2})$$

and hence $\lim_{n \to \infty} d(Su_n, SSu_n) = 0$. This implies z = Sz. Therefore z is a fixed point of S in both cases.

We next show that

(4)
$$d(T^n z, T^{n+1} z) \le r^n d(z, Tz) \quad \text{for } n \in \mathbb{N}.$$

We put $T^0 z = z$. Since

$$\theta(r) \, d(ST^{n-1}z, T^n z) \le d(ST^{n-1}z, T^n z) = d(ST^{n-1}z, T^n Sz) = d(ST^{n-1}z, ST^n z),$$

we have

$$d(T^{n}z, T^{n+1}z) \le r \, d(ST^{n-1}z, ST^{n}z) = r \, d(T^{n-1}Sz, T^{n}Sz) = r \, d(T^{n-1}z, T^{n}z).$$

Using this inequality, we can prove (4).

We shall prove that z is a fixed point of T, dividing the following four cases:

- $0 \le r \le \frac{1}{2}(\sqrt{5}-1)$
- $\frac{1}{2}(\sqrt{5}-1) < r < \frac{1}{\sqrt{2}}$ $\frac{1}{\sqrt{2}} \le r < 1$ and $\sharp\{n : Su_n \neq z\} = \infty$ $\frac{1}{\sqrt{2}} \le r < 1$ and $\sharp\{n : Su_n \neq z\} < \infty$

In the first case, we note $r^2 + r - 1 < 0$ and $2r^2 < 1$. We can prove that

(5)
$$\theta(r) d(TTz, TTTz) \le d(TTz, z).$$

If not, then since d(TTz, z) < d(TTz, TTTz), we have by (4)

$$d(Tz, z) \le d(Tz, TTz) + d(TTz, z) < d(Tz, TTz) + d(TTz, TTTz)$$
$$\le (r + r^2) d(z, Tz) \le d(z, Tz),$$

which implies a contradiction. Therefore (5) holds. Hence

$$\theta(r) d(STTz, TTTz) = \theta(r) d(TTz, TTTz) \le d(TTz, z) = d(STTz, Sz)$$

holds. From the assumption, we have

(6)
$$d(TTTz, Tz) \le r \, d(STTz, Sz) = r \, d(TTz, z).$$

Arguing by contradiction, we assume that $TTz \neq z$. Then we note that $STTz \neq z$ and $STz = Tz \neq z$. Using (3) two times, we obtain

$$d(TTTz, z) \le r \, d(STTz, z) = r \, d(TTz, z) \le r^2 \, d(STz, z) = r^2 \, d(Tz, z).$$

Using this inequality and (6), we have

$$d(z,Tz) \le d(z,TTTz) + d(TTTz,Tz) \le r^2 d(z,Tz) + r d(TTz,z)$$
$$\le 2r^2 d(z,Tz) < d(z,Tz).$$

This is a contradiction. Thus we obtain TTz = z. By (4),

$$d(Tz, z) = d(Tz, TTz) \le r d(z, Tz),$$

which implies Tz = z. In the second case, we note $2r^2 < 1$. If (5) does not hold, then we obtain by (4)

$$d(z,Tz) \le d(z,TTz) + d(TTz,Tz) < \theta(r) d(TTz,TTTz) + d(TTz,Tz)$$
$$\le \theta(r) r^2 d(z,Tz) + r d(z,Tz) = d(z,Tz),$$

which implies a contradiction. Therefore (5) holds. As in the first case, we can prove Tz = z. In the third case, there exists a subsequence $\{u_{n_j}\}$ of $\{u_n\}$ such that $Su_{n_j} \neq z$. By (3), we have

$$\theta(r) d(Su_{n_j}, Tu_{n_j}) \leq \theta(r) \left(d(Su_{n_j}, z) + d(Tu_{n_j}, z) \right)$$
$$\leq \theta(r) \left(d(Su_{n_j}, z) + r d(Su_{n_j}, z) \right)$$
$$= d(Su_{n_j}, z).$$

By the assumption, we have $d(Tu_{n_i}, Tz) \leq r d(Su_{n_i}, z)$ and hence

$$d(z,Tz) = \lim_{j \to \infty} d(Su_{n_j+1},Tz) = \lim_{j \to \infty} d(Tu_{n_j},Tz) \le \lim_{j \to \infty} r d(Su_{n_j},z) = 0.$$

Thus, Tz = z holds. In the fourth case, there exists $\nu_3 \in \mathbb{N}$ such that $Su_n = z$ for $n \ge \nu_3$. In particular, $Su_{\nu_3} = Su_{\nu_3+1} = z$. We have

$$Tz = TSu_{\nu_3} = STu_{\nu_3} = SSu_{\nu_3+1} = Sz = z.$$

We have shown that z is a common fixed point of S and T in all the cases.

We conclude the proof by showing that the common fixed point is unique. Suppose that y is a common fixed point of S and T. Since $\theta(r) d(Sz, Tz) = 0 \leq d(Sz, Sy)$, we have

$$d(z, y) = d(Tz, Ty) \le r \, d(Sz, Sy) = r \, d(z, y)$$

and hence z = y.

3. The Meir-Keeler's Theorem

Finally, we generalize another result in [19] as Park and Bae in [14] generalized the Meir-Keeler fixed point theorem [12]. See also [20].

Theorem 4. Let (X, d) be a complete metric space. Let S and T be mappings on X satisfying (a)–(c) in Theorem 3. Assume that

(7)
$$\frac{1}{2}d(Sx,Tx) < d(Sx,Sy) \text{ implies } d(Tx,Ty) < d(Sx,Sy)$$

for all $x, y \in X$, and that for any $\varepsilon > 0$, there exists $\delta(\varepsilon) > 0$ such that

(8)
$$\frac{1}{2}d(Sx,Tx) < d(Sx,Sy) \text{ and } d(Sx,Sy) < \varepsilon + \delta(\varepsilon) \text{ imply } d(Tx,Ty) \le \varepsilon$$

for all $x, y \in X$. Then there exists a unique common fixed point of S and T.

Remark. $\frac{1}{2}$ is the best constant because $\theta(r)$ in Theorem 1 is best.

Proof. By (b), we can define a mapping I on X satisfying SIx = Tx for all $x \in X$, and Ix = x for all $x \in X$ with Sx = Tx. For $x \in X$ with $Sx \neq Tx$, we have d(Sx,Tx) < 2d(Sx,Tx) = 2d(Sx,SIx). It follows from (7) that d(Tx,TIx) < d(Sx,SIx). Therefore (9) d(SIx,SIIx) < d(Sx,SIx) for all $x \in X$ with $Sx \neq SIx$.

Thus,

(10)
$$d(SIx, SIIx) \le d(Sx, SIx)$$
 for all $x \in X$.

Let $u \in X$. Put $u_0 = u$ and $u_n = I^n u$ for all $n \in \mathbb{N}$. By (10), $\{d(Su_n, Su_{n+1})\}$ is a nonincreasing sequence and hence $\{d(Su_n, Su_{n+1})\}$ converges to some $\alpha \geq 0$. Suppose $\alpha > 0$. Then by (9), $\{d(Su_n, Su_{n+1})\}$ is strictly decreasing and hence $d(Su_n, Su_{n+1}) > \alpha$ for $n \in \mathbb{N}$. Take $j \in \mathbb{N}$ with $d(Su_j, Su_{j+1}) < \alpha + \delta(\alpha)$. It follows from (8) that $d(Su_{j+1}, Su_{j+2}) \leq \alpha$. This is a contradiction. Therefore we obtain $\alpha = 0$, that is,

(11)
$$\lim_{n \to \infty} d(Su_n, Su_{n+1}) = 0.$$

Fix $\varepsilon > 0$ and put $\delta_1 = \min \{\delta(\varepsilon), \varepsilon\}$. By (11), we can choose $\nu_1 \in \mathbb{N}$ such that $d(Su_n, Su_{n+1}) < \delta_1$ for all $n \ge \nu_1$. Fix $\ell \in \mathbb{N}$ with $\ell \ge \nu_1$. We shall show that

(12)
$$d(Su_{\ell}, Su_{\ell+m}) < \varepsilon + \delta_1$$

for $m \in \mathbb{N}$ by induction. If m = 1, (12) obviously holds. Suppose that $d(Su_{\ell}, Su_{\ell+m}) < \varepsilon + \delta_1$ holds for some $m \in \mathbb{N}$. In the case where $d(Su_{\ell}, Su_{\ell+m}) \leq \varepsilon$, we have

$$d(Su_{\ell}, Su_{\ell+m+1}) \le d(Su_{\ell}, Su_{\ell+m}) + d(Su_{\ell+m}, S_{\ell+m+1}) < \varepsilon + \delta_1.$$

In the other case, where $\varepsilon < d(Su_{\ell}, Su_{\ell+m}) < \varepsilon + \delta_1$, since

$$d(Su_{\ell}, Su_{\ell+1}) < \delta_1 \le \varepsilon < d(Su_{\ell}, Su_{\ell+m}) < 2 \, d(Su_{\ell}, Su_{\ell+m}),$$

we have $d(Su_{\ell+1}, Su_{\ell+m+1}) \leq \varepsilon$ by (8). Hence,

$$d(Su_{\ell}, Su_{\ell+m+1}) \le d(Su_{\ell}, Su_{\ell+1}) + d(Su_{\ell+1}, Su_{\ell+m+1}) < \delta_1 + \varepsilon.$$

So, by induction, we obtain (12) for all $m \in \mathbb{N}$. Since ε is arbitrary, we have

$$\lim_{n \to \infty} \sup_{m > n} d(Su_m, Su_n) = 0.$$

This implies that $\{Su_n\}$ is a Cauchy sequence. Since X is complete, $\{Su_n\}$ converges to some point $z \in X$.

Next we show that z is a fixed point of S. In the case where $\sharp\{n : d(Su_n, Tu_n) \geq 2d(Su_n, SSu_n)\} = \infty$, there exists a subsequence $\{u_{n_j}\} \subset \{u_n\}$ such that $d(Su_{n_j}, Tu_{n_j}) \geq 2d(Su_{n_j}, SSu_{n_j})$. Then it follows from (a) that

$$d(Sz, z) = \lim_{j \to \infty} d(SSu_{n_j}, z) \leq \lim_{j \to \infty} \left(d(SSu_{n_j}, Su_{n_j}) + d(Su_{n_j}, z) \right)$$
$$\leq \lim_{j \to \infty} \left(\frac{1}{2} d(Su_{n_j}, Tu_{n_j}) + d(Su_{n_j}, z) \right)$$
$$= \lim_{j \to \infty} \left(\frac{1}{2} d(Su_{n_j}, Su_{n_j+1}) + d(Su_{n_j}, z) \right) = 0.$$

This implies that z = Sz. In the other case, where $\sharp\{n : d(Su_n, Tu_n) \ge 2d(Su_n, SSu_n)\} < \infty$, there exists $\nu_2 \in \mathbb{N}$ such that $d(Su_n, Tu_n) < 2d(Su_n, SSu_n)$ for all $n \ge \nu_2$. It follows from (7) that

$$d(Su_{n+1}, SSu_{n+1}) = d(Tu_n, TSu_n) < d(Su_n, SSu_n)$$

for $n \geq \nu_2$, thus, $\{d(Su_n, SSu_n)\}$ is strictly decreasing for large $n \in \mathbb{N}$. This implies that $\{d(Su_n, SSu_n)\}$ converges to some $\beta \geq 0$, and $d(Su_n, SSu_n) > \beta$ for $n \geq \nu_2$. Suppose $\beta > 0$. Then from the definition of β , we can take $j \in \mathbb{N}$ such that $j \geq \nu_2$ and $d(Su_j, SSu_j) < \beta + \delta(\beta)$. From (8) and (c), we obtain $d(Su_{j+1}, SSu_{j+1}) = d(Tu_j, TSu_j) \leq \beta$. This is a

contradiction. Thus, we obtain $\beta = 0$, that is, $\lim_{n \to \infty} d(Su_n, SSu_n) = 0$, which implies that z = Sz.

Let us prove Tz = z. We consider the following two cases:

- There exists $\nu \in \mathbb{N}$ such that $Su_{\nu} = Su_{\nu+1}$.
- $Su_n \neq Su_{n+1}$ for all $n \in \mathbb{N}$.

In the first case, we note $u_{\nu} = u_{\nu+1}$ from the definition of *I*. Hence $u_n = u_{\nu}$ for all $n \ge \nu$. Since $Su_n \to z$, we have $Su_n = z$ for $n \ge \nu$. Hence, we obtain

$$Tz = TSu_{\nu} = STu_{\nu} = SSu_{\nu+1} = Sz = z.$$

In the second case, we note $Su_n \neq Tu_n$ for $n \in \mathbb{N}$. Suppose $d(Su_n, Su_{n+1}) \geq 2d(Su_n, z)$ and $d(Su_{n+1}, Su_{n+2}) \geq 2d(Su_{n+1}, z)$ for $n \in \mathbb{N}$. Then we have

$$d(Su_n, Su_{n+1}) \le d(Su_n, z) + d(Su_{n+1}, z)$$

$$\le \frac{1}{2} \left(d(Su_n, Su_{n+1}) + d(Su_{n+1}, Su_{n+2}) \right)$$

$$< d(Su_n, Su_{n+1})$$

by (9). This is a contradiction. Therefore we have either

 $d(Su_n, Su_{n+1}) < 2 d(Su_n, z)$ or $d(Su_{n+1}, Su_{n+2}) < 2 d(Su_{n+1}, z)$

for $n \in \mathbb{N}$. Then, from (7), either

$$d(Tu_n, Tz) < d(Su_n, z)$$
 or $d(Tu_{n+1}, Tz) < d(Su_{n+1}, z)$

holds for $n \in \mathbb{N}$. Since $Tu_n = Su_{n+1}$ and $Su_n \to z$, there exists a subsequence of $\{Su_n\}$ converging to Tz. This implies that Tz = z. Therefore, in all the cases, we have shown z is a common fixed point of S and T.

We conclude the proof by showing that the common fixed point is unique. Suppose that y is another common fixed point of S and T. Since d(Sz,Tz) = 0 < 2 d(z,y) = 2 d(Sz,Sy), we have

$$d(z, y) = d(Tz, Ty) < d(Sz, Sy) = d(z, y).$$

This is a contradiction.

References

- S. Banach, Sur les opérations dans les ensembles abstraits et leur application aux équations intégrales, Fund. Math., 3 (1922), 133–181.
- J. Caristi, Fixed point theorems for mappings satisfying inwardness conditions, Trans. Amer. Math. Soc., 215 (1976), 241–251. MR0394329 (52:15132)
- J. Caristi and W. A. Kirk, Geometric fixed point theory and inwardness conditions, Lecture Notes in Math., Vol. 490, pp. 74–83, Springer, Berlin, 1975. MR0399968 (53:3806)
- [4] Lj. B. Ćirić, A generalization of Banach's contraction principle, Proc. Amer. Math. Soc., 45 (1974), 267–273. MR0356011 (50:8484)
- [5] E. H. Connell, Properties of fixed point spaces, Proc. Amer. Math. Soc., 10 (1959), 974–979. MR0 110093 (22:976)
- [6] I. Ekeland, On the variational principle, J. Math. Anal. Appl., 47 (1974), 324–353. MR0346619 (49: 11344)
- [7] _____, Nonconvex minimization problems, Bull. Amer. Math. Soc., 1 (1979), 443–474. MR0526967 (80h:49007)

FIXED POINT THEOREM

- [8] G. Jungck, Commuting mappings and fixed points, Amer. Math. Monthly, 83 (1976), 261–263. MR 0400196 (53:4031)
- [9] R. Kannan, Some results on fixed points II, Amer. Math. Monthly, 76 (1969), 405–408. MR0257 838
- [10] W. A. Kirk, Contraction mappings and extensions in Handbook of metric fixed point theory (W. A. Kirk and B. Sims Eds.), 2001, pp. 1–34, Kluwer Academic Publishers, Dordrecht. MR1904272 (2003 f:54096)
- [11] _____, Fixed points of asymptotic contractions, J. Math. Anal. Appl., 277 (2003), 645–650. MR1 961251 (2003k:47093)
- [12] A. Meir and E. Keeler, A theorem on contraction mappings, J. Math. Anal. Appl., 28 (1969), 326– 329. MR0250291 (40:3530)
- [13] S. B. Nadler, Jr., Multi-valued contraction mappings, Pacific J. Math., 30 (1969), 475–488. MR0254 828 (40:8035)
- [14] S. Park and J. S. Bae, Extensions of a fixed point theorem of Meir and Keeler, Ark. Mat., 19 (1981), 223–228. MR0650495 (83e:54048)
- [15] P. V. Subrahmanyam, Remarks on some fixed point theorems related to Banach's contraction principle, J. Math. Phys. Sci., 8 (1974), 445–457. MR0358749 (50:11208)
- [16] _____, Completeness and fixed-points, Monatsh. Math., 80 (1975), 325–330. MR0391065 (52:11 887)
- T. Suzuki, Generalized distance and existence theorems in complete metric spaces, J. Math. Anal. Appl., 253 (2001), 440–458. MR1808147 (2002f:49038)
- [18] _____, Several fixed point theorems concerning τ -distance, Fixed Point Theory Appl., **2004** (2004), 195–209. MR2096951
- [19] _____, A generalized Banach contraction principle which characterizes metric completeness, to appear in Proc. Amer. Math. Soc.
- [20] T. Suzuki, R. Saadati and D. O'Regan, Common fixed points of two commuting mappings in complete metric spaces, Bull. Iranian Math. Soc., 32 (2006), 53–66.

(M. Kikkawa) Department of Mathematics, Faculty of Science, Saitama University, 255 Shimo-Okubo, Sakura, Saitama 338-8570, Japan

E-mail address: mi-sa-ko-kikkawa@jupiter.sannet.ne.jp

(T. Suzuki) Department of Mathematics, Kyushu Institute of Technology, Sensuicho, Tobata, Kitakyushu 804-8550, Japan

E-mail address: suzuki-t@mns.kyutech.ac.jp